A & 0l & A

20228 & F=Z 1 3l JItSE3H EH (ctel =)
20l 22 - FHAY - RAAH(SIH) O & of J 3 oA HinZS2 =
=5 Al 31,835,301 30,739,496 1,095,805 3.56%
ALY 28,611,142 27,512,977 1,098, 165 3.99%
NeEs 2,971,000 2,971,000 0 0.00%
HHYZFZHI 253, 159 255,519 A2,360 AN0.92%
g 25,109,887 24,011,722 1,098, 165 4.57%
&5t - =3 21,974,035 20,935,870 1,038, 165 4.96%
=224 1,058,797 1,052,592 1,205 0.11%
FHA (TN ELZAH) 1,053,797 1,052,592 1,205 0.11%
=224 5,153,500 5,151,140 2,360 0.05%
HesSd (AT AIESEIH) 4,624,118 4,621,758 2,360 0.05%
APPSR (M AL SESIA) 529,382 529,382 0 0.00%
=d2d 12,797,738 11,763,138 1,034,600 8.80%
St 2tel (st S8 3 H) 12,797,738 11,763,138 1,034,600 8.80%
HRES (ALl ALY A) 2,969,000 2,969,000 0 0.00%
HWEHAXE(=ENLELES ) (=EMNEEE 2,234,000 2,234,000 0 0.00%
3| H)
BHEXE(G==SE3IH) 735,000 735,000 0 0.00%
HII2 3,135,852 3,075,852 60,000 1.95%
HIIZ 4&0 Xel 3,135,852 3,075,852 60,000 1.95%
FHtHs ¥ 2R (EMASESAH)(=E 3,135,852 3,075,852 60,000 1.95%
HESHSIA)
WEEIEEDN| 409,374 409,374 0 0.00%
J=Mes8H 407,374 407,374 0 0.00%
HNASE MEoHE X 407,374 407,374 0 0.00%
=230 (A==20II2SE3H) 407,374 407,374 0 0.00%
FHAHNSK A 2,000 2,000 0 0.00%
H2as(za=sX1) 2,000 2,000 0 0.00%
EESEEIIAHBENE(A2S0HIISELE S 2,000 2,000 0 0.00%
A1)
S Yol bt 5,862,881 5,862,881 0 0.00%
=9 -5& 5,862,881 5,862,881 0 0.00%
=3 HorE 4,371,381 4,371,381 0 0.00%
%;’Ei%/\f%‘ FH(sE=LSME 2g SE3 4,371,381 4,371,381 0 0.00%
Al
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